COE202/ Term 071/ Sec. 02

Fundamentals of Computer Engineering

Homework #3 Solution

Q.1)

[image: image1.png]T mloA)

(O Feasc) = T mi3,5,6) , AR

3
Ao oy 1o
Arasiine

Ve A\ L B

yimeLmplicends t BC, Ac, AB
Al of Hen are essential

F Re +NC + AR = ©( RYA) AR





[image: image2.png]Y I R

aLes a1y e

AR

e

w s [ =
] - T Tb|

Peime_tmplcarts 3 ¢, BB, BB, AD
Essenbiel_prime_implicenlss <, AT

pdler selechrng e esseakial prME Implicante,
only ki e wncoveied . THTE Can
bl coverd By selecking M rome. pplicest
AR es BT . TRV

£ o= g+nﬁfﬁn 5 hkrals
wps c+ D 8D 5 likisls
4 liknls

= ¢ + BUATR)
2d expresssn 13 hehr Since
i esubds T o multiku

P
1 con be focdmed
crenit





[image: image3.png]ST M, 67y e )
< o, s 4y 812, 18, 15)

wy  FCARP)

@
9 Qoe oL 1 to
o oo i+
a il otaTs
n —15
ollle o o

€5, ABD, A8BT, ARD

Prime_/mg. [/A'NJA B
Essenbinl prome Implasts

pétr seleclmg e essertiel
inberms are. Coverd

- €5 +KBD + ASP
B ¢ THAE) + REO

=D, ABH, A8D

pime. Impheands, il He




Q.2)

[image: image4.png]O Flwn ) = 7 vy )
Jewn L) = Tis s )

Suwm oe]

o [0 &
wlioVe X Ts
RE18 il
pme_implicarksy WX, BT

/
Esseohel_prime_mplressks s X

F- %3+ WE

Tz Ty, 92, %Y
z




[image: image5.png]odock o sems &

Flwynt,8) = Z mC4, 9, 1% 15 1%)
Awx,2) = T 56U 15)

K e o o
alelol~ o
Kl X\ ° K

w
w| ol (%]

frime Inplicenks T X3, X T, wn , W
Fosenbiel_prime_implesnbss W
F-wzt YT

7 (G+EI(F+72)




[image: image6.png]W) FAG ) = T om(3,5,13,15)
emay = Tt 5o ke B le 1Y

Sum o pradveds L

#2Qe o

A% kS
st No
w ST

ro| 2l a0 [

Prome_tmplicants v AT O; Afc, B, 3%, A%

Essentral_prime_imploeatss R

F= AR + BE + 8D
o F o ph + BT TARC
S EI b rmD TAED
iy T aB +ARC





[image: image7.png]Proguck o S2mS 3
®oc,0) = Tmlee®s 9,0)

Fon
S e bt

LRSI

to, 12 18)

R s0 o 0 e

Wi x]o lofx

[

Prime_imp

(FrRYCBH) (AT
= (RS (RADRATAD)
(Rae) (s Ar8aE)





[image: image8.png]QD FCaRe B EF) = T (603,13, 18,19, 25,282 4, 45, 6%,61)

Suw § produedst

Av=e





[image: image9.png]cEF, ABCDEF, ABEDE, REDER

Price_Jnplicods®
AR CDF




[image: image10.png]Produck_of TTEY

FembocagF) s Tmtely 3,45

7,8, Lo, 101214/ 15, 16,

28, 30, 31,52

() ey 21, 227 73, W02
, 3
w46, W3, w8y 4905y
56, 58/ 69, 6o, €2 €3)

35, 3, T 38 WU N2 NY
51 53,53 505,

REH , REF, BEF,
cnE, AT, RE,

Puime_implicaokS %
, E
~, AEF, BDE, OFF;





[image: image11.png]Esenknl_prime_implicants TE , AE
4L cF + BEF + BPE +RBE

F = ¢F +AE
s i e posshk minmal cxprss/an: T e
alsa olcr posibi IS -

L D) (FAE) (T RH+EAT X B+54E )(B101E)

F=




Q.3)

[image: image12.png]Iy

e dewk care condibrons o
dehgic,0E) = T m( 23 27, 27)




Q.4)

[image: image13.png]



[image: image14.png]Nand_implemendedion Nowfmplemendadion
Noc_fmp kmendadio:

wx )
wxe olE




[image: image15.png]Up X A FPT A WER

= %2 tay +uRF

Fo- @% 4%y 4+ RG2T

£ = F = G100ag) (Fayr?)





Q.5)

[image: image16.png]- #8Z0 +ARTO 4+ AT CT+RecD
= AB (20 4cB) + AR (TH4CB)
(zo+cB) (N8 +R8)

(D) ADR)
:531({)_:
=0





Q.6)

[image: image17.png]implementation

o iead implemer





[image: image18.png]1.




